Multiply by powers of ten (missing number)

10.845 x

10.499 x

1.374 x

= 5268

= 108.45

=1049.9

4.637 x

10.912 x

9.661 x

= 1374

=463.7

=1091.2

1.783 x

8.033 x

1.808 x

= 966.1

=178.3

= 80.33

= 18.08

Date: Score:
4.438 x = 44.38
6.442 x = 64.42
4.636 x = 4636
7.093 x =70.93
5.159 x =51.59
6.157 x =615.7
9.884 x = 9884
7.019 x =701.9
10.756 % = 10756
3.195 x =31.95
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Multiply by powers of ten (missing number)

5.268 x 1000 = 5268

10.845 x 10 = 108.45

10.499 x 100 = 1049.9

1.374 x 1000 = 1374

4.637 x 100 = 463.7

10.912 x 100 = 1091.2

9.661 x 100 = 966.1

1.783 x 100 = 178.3

8.033 x 10 = 80.33

1.808 x 10 = 18.08

Date: Score:

4.438 x 10 = 44.38

6.442 x 10 = 64.42

4.636 x 1000 = 4636

7.093 x 10 = 70.93

5.159 x 10 = 51.59

6.157 x 100 = 615.7

9.884 x 1000 = 9884

7.019 x 100 = 701.9

10.756 x 1000 = 10756

3.195 x 10 = 31.95
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